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Term 1 Practice Test 5

Algebra

1) State if the following polynomial expressions are monomials, binomials or trinomials.
a) b)
boag e 7x° —8x% + 6
Answer: mesovrmia | Answer: Gringmial
C) d) & 3
o 2x5 — 4x* + 6x5 = Bx2HY
ADSWer: mnomenne | ANSWET: i |
2) TRUE or FALSE. All of the following are irrational numbers.ﬁ,(t\mrg\/lﬁs
>3
Answer: _ FALSE
3) Determine the degree of the following polynomial expressions.
a) (2x2)*.- 2943 b) Sx*+7
= o ®
Answer: degree = R Answer: degree = 4
c) —6x°(8x3) d) —6 — 2x8 — 7x3
Answer: degree = ¢ Answer: degree = §
4) Write each of the following as a power of 10.
£ ~F
a) 100 000 = 10 b) 0.000 0001 = __ [()
5) Write the following in exponential form and in standard form.

a) Y
Y169 = _ (9

LA

b)

i
Vigs= 55~ -




6) Simplify the following expressions (only positive exponents and calculated coeffi

a) (Bx~lyH? = 311“133

'X»L

b) (4a®b~%c)? = LiscLi% BW_CS

cients).

: 3
= o'

b

7) Simplify the following algebraic expressions. If the equation is already in simplified form
rewrite the statement in the space provided.

Answer; ‘){,br-u 1
=

a) b)
—x% —(3x2-7) Sx14y? 4 7x9y14
ey | e il
Uy T+ T a} t’“eacb\:\ 6L'Y}thkzd
. & — M 9 g 'ﬁ‘
Answer:_— Yy rF Answer:_ Ny, U + 7y 'y
T g
c) d)
Xy Xy Xy Xy

—8x%y7z% + 16x11y10
Cﬁ&eadt) Sgimp\;filed

Answer:_—3y" u"’i'?"; B [ja'}L“u =

—21x°y% + 12x3y6
Qiﬁgc@ij &mp\éﬁed'

Answer:

& 1 .
-an-ﬁi - L’)m;su‘

f)

-—EJSX5 = C_b}}_}‘i ol
15%

>
Bx

Answer: _ S4H

8) Determine if the following statements are true or false. The entire word must be written.

a. NECQ -Teue

b.

d.

—2156 €Q Teuge
V343eQ Teus

L3




9) Solve for the unknown variables (no decimals).

a) —5x—2=—-4x-89
-Sx+ix=~-g+2
-} _!
1= 8%
Answer: X=8%

b) —17x —5x +29 = 16 — 14x
= 22% t29 = |- 1%y
-22% FI4¥ = 16-29

‘-g-yg A Ve
J—
3 -3
X=15
3
P
Answer: %-m—g

10) Complete the following chart.

%5 =i 1 I -
® . 3 %,_1 0 1 2 3 17| EarL
®) | _32 923 Ea sl
© i T N e L N T Trosie, &
AR Bt B wacu 2 5 7 [
d -1<x<?2 I | | | 1 .
W ¥ 3 &2 = 0 1 3 4 L‘ 1,2




11) Consider the polynomials:
A= 5x?+4x+2

B= —-3x2+5
C=x—-4
Find.
a) |A+B-C
(5> F it £ B +5 )~ OC"_L*)
BTy 2 —3x 45—t
29 TS0 4 1)
Answer: A% 3 + 1
b) | 3A-2B
3(51* v t2) ~2(-3%x"45)
1S+ 2% +6 +6xT—10
2%t +12¢ -4
Answer: Qi + Dv-4
c) | (A)C)
(5%* +4x +2) (%-%)
5x>- 20x % +4x2- ibx F2% ~8
5% -1 t 2% -8
== B 2 :
Answer:_ N7 - 4 2 =<




12) Determine the area of the shaded region.

Remember to be clear and organized when showing all your work.

Agea e Recranoa &

il

(Leeq&#n\ (uoi'd'*‘\ﬂ\
(5%+ 1) C—'}x-‘-ﬂ

= 3By -20% + 2% - H
251> +92x -eH

hi

i

LENGTH of Amat ReCcTaneELE WIDTH of SmALL RECTANG LE

(sxric)=(>- () (x4 ()
Sw—lle =8 -9 Fx-44 -L -
5’\{;‘\’(0 5%_#1_\

AREL c{ SMALL “RECTANELE > (l_en&uq\ (w;r_{-m\

{1

(5xcre) (Gx-4)
95xF -20% +30% -aY
Bxt 4 10w-4

\i

{4

Dhaded Aren = Asie - Asva)
= (55}@"‘1‘—01276 _,Q.}) - {a5Nt 1% —;N)
25x* TAWK - - 5% — 10X taY

0% +82X 40

1l
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